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= Solve S manually
| aml 0 0
L | an2+| anml _L
a2 2 a2
0 0 | am2
~mt=| 0 = 0
In[7] ‘\/2—
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f 5(-Ian’2+|aml) _—
0 = 0
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Pet rov [mat ]

S = Tabl e[ToExpression["s" <>ToString[i]<>ToString[j11, {i, 1, 6}, {j, 1, 6}1;

j1=Flatten[Transpose[S].B.S-W;
j2=Flatten[mat.S-S. V];

Out[8]//MatrixForm=

2= exp =Join[j1, j27;
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2 | ClassXX_Solve.nb

in13)= sub = {lanl » LL2, lan?2 - LL1, s14 -0, s15-50, s31 -0, s32-0, s34 -0, s11-0,
s35 -0, s12 -0, s21 » s51, s24 » -s54, s51 -0, s54 50, s36 -0, s64 -0, s13 -0,
s41 - 0, s22 » -s52, s42 » 0, s25 -» s55, s61 » -Sqrt [2] s52, s65 -» 0, s66 - 0, s43 - 0,
S26 -» s56, s44 » Sqrt [2] s55, s55 »s16/Sqrt [2], s23 » -s53, s52 -s33/Sqrt [2],
s62 » -Sqrt [2] s53, s53 -0, s45 » Sgrt [2] s56, s63 - 0, s56 - 0, s33 > 1, s16 » 1, s46 -» 0};
Sinplify[Sort [Union[exp //. sub], enfSi ze[#1] < enSi ze[#2] &]] // Matri xForm
Sinplify[S//. sub] // Matri xForm
Out[14]//MatrixForm=
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